AVEES

RTisfzimig ( “REW” D RRAFLREERFF K.
PAHESHIARREL, ERERTRESEISHR.
BB ENABERGRME T TARENLERE.

e
G1/2” FAM12X1.5fRE2E 1@
BEigit
v FH
OEMRZ F3
SR B
N A A
At T1EET: B 54 bar (400 kPa=58 psi)
fREEEEk: #=if B = 4 3
Wiy i if‘;‘.‘ — 5/)\0.64 g/lcm
FTHEE: &4 EEN R RRIRE:
EF %30 T B2 (NBR) 15 £2 mm
Bith %R IP65 BEFK: NE R
— BESEE: 10K—$§  +60°C...+90°C
i (140°F ... 194 °F)
TZiEE: FRIE SLAE: +5 K
SMZLL G1/2“ DIN ISO 228-1=T1/2 EIE=R 30 +15K
M20x1.5 DIN 13 i e NC (EERTHEAE)
B EE: #HkM12x1, WFF %
4%t, PA FEAE: R AN FREINEF
#LDIN EN 175301-803-A (J& WE: 2/FESINETF
DIN 43650) , 4-3t, PARZEHH BEES1-12: B/\32 mm
>, PA AR, Wik HAASAM (L1=4H1+2 /L2 =41
BSHEE B A24VAC/DC +4) , A¥xFFM12x1
BKR1A A :
RK20 VA/W
TAERE: -10°C...+90°C (14°F ... 194°F)
FEEEIN ...-BN18-L1/1(2)-TS*/2 ..-BN18-L1/1(2) ...-BN18-L2/2.1-Dual
fih 5 FF S ASAM 1(WH) 2(BN) S(GN) 1(WH) Z(BN) 1(WH) 2(BN) 3(GN)
L1 L1 L1 = NC
1S A, RMFSTIR L2 = NO
sk BEEH M12x1 BB
TR ES R
907-0013 PG9, PA#R, #&DINEN 175 301-803-A (JEDIN 43650) HYST14EEE
907-0344 PG9, PAKR, M12x1{HEE (EFE%, HED
54 Barksdale



AVEIPS

UNS1000-BN18%Y

R~tE (4L mm / inch)

= TT1/2

wAT
AT

* TS: mEFX

. IMBZG1/2”

M20x1.5: SMZLL

S: &/)\0/1.57
S: &/ 25/0.98

fEkM12x1, 45, PA

Y-+ B
~ h27 e
= [
+l | H [ ]
iy
i W HBE
(@)
—~| Z * %
5| ko +| I—i
s 9@
828 L L ssinans
o — O
AR eSS T
- <ls
Xl ZE |
= D e18 [ .
~l D 0.71 &
S e
byl w
S * o
- * =
o
+l * e e
3 l?%*éllg]
*

UNS1000-MS/**-M12x1-BN18-L1/1(2)-TS*/2

35 +2/
1.38 £0.08

#H3LDIN EN 175301-803-A,
4%, PA

11

[
T
T

"

_ o

UNS1000-MS/**-ST1-BN18-L1/1(2)-TS*/2

I~
S PVCH4;
Yo

+ -
8 N BAE=%
SY i, PA

i -

(ce]
X <
(37
N
<0

-

UNS1000-MS/**-PG-BN18-L1/1(2)-TS*/2

h o

|

TT MK AL
RIBERATLURHEE M KEMEEF XS
prope y prope y

TIRE | \S1000-MS/.. JL[‘:mgfnL]o UNS1000-MS/ . Tfm?}
0122-172 | ...M20x1.5-ST1-BN18-L1/1(2)-TS70/2 70..400 | 0122190 | ...T1/2-ST1-BN18-L1/1(2)-TS70/2 70... 400
0122173 | ...M20x1.5-ST1-BN18-L1/1(2)-TS7T0/2 | 401...600 | 0122-191 | ..T1/2-ST1-BN18-L1/1(2)-TS70/2 401... 600
0122-174 | ..M20x1.5-M12x1-BN18-L1/1(2)-TST0/2 | 70..400| 0122192 | ..T1/2-M12x1-BN18-L1/1(2)-TS70/2 70... 400
0122175 | ...M20x1.5-M12x1-BN18-L1/1(2)-TS70/2 | 401...600 | 0122-193 | ..T1/2-M12x1-BN18-L1/1(2)-TS70/2 401... 600
0122-176 | ...M20x1.5-PG-BN18-L1/1(2)-TS70/2 70..400| 0122194 | .. T1/2-PG-BN18-L1/1(2)-TS70/2 70... 400
0122-177 | ...M20x1.5-PG-BN18-L1/1(2)-TS70/2 401..600 | 0122-195 | .. T1/2-PG-BN18-L1/1(2)-TS70/2 401... 600
0122178 | ...M20x1.5-ST1-BN18-L1/1(2) 55..400 | 0122196 | ..T1/2-ST1-BN18-L1/1(2) 55... 400
0122179 | ...M20x1.5-ST1-BN18-L1/1(2) 401..600 | 0122-197 | .. T1/2-ST1-BN18-L1/1(2) 401... 600
0122180 | ...M20x1.5-M12x1-BN18-L1/1(2) 55..400 | 0122-198 | ..T1/2-M12x1-BN18-L1/1(2) 55... 400
0122-181 | ...M20x1.5-M12x1-BN18-L1/1(2) 401..600 | 0122-199 | ..T1/2-M12x1-BN18-L1/1(2) 401... 600
0122182 | ...M20x1.5-PG-BN18-L1/1(2) 55..400 | 0122-200 | ..T1/2-PG-BN18-L1/1(2) 55... 400
0122183 | ... M20x1.5-PG-BN18-L1/1(2) 401..600 | 0122-201 | ..T1/2-PG-BN18-L1/1(2) 401... 600
0122-184 | ..M20x1.5-ST1-BN18-L2/2.1-T &5 55..400 | 0122-202 | ..T1/2-ST1-BN18-L2/2.1-XLe5 55... 400
0122-185 | ... M20x1.5-ST1-BN18-L2/21-T0 5 401..600 | 0122-203 | ..T1/2-ST1-BN18-L2/2.1-TL&5 401... 600
0122-186 | ... M20x1.5-M12x1-BN18-L2/2.1-T 5 55..400 | 0122204 | .. T1/2-M12x1-BN18-L2/2.1-T & 55... 400
0122-187 | ..M20x1 5-M12x1-BN18-L2/2.1-XL &5 401..600 | 0122-205 | ..T1/2-M12x1-BN18-L2/2.1-T 5 401... 600
0122-188 | ... M20x1.5-PG-BN18-L2/2.1-T & 55..400 | 0122206 | ..T1/2-PG-BN18-L2/2.1- 5 55... 400
0122-189 | ...M20x1.5-PG-BN18-L2/2.1-XL &5 401..600 | 0122-207 | .. T1/2-PG-BN18-L2/2.1-T 5 401... 600

55

Barksdale





